Main System Interconnect

Curiosity LPC

CONTROL MICRO POWER
TVDD_GOOD <] %DDDG?\BOD TVDD_GOOD
VDD_GND > VDD_GND
USB_HS
Power.SchDoc
HS SR
USB_HS < __> USB_HS ICSP Target IF
PG_SYSTEM PG SYSTEM > PG_SYSTEM
ICSP > ICSP PGC PGC
PGD PGD
VPP_ON
- VPP_ON i > VPP_ON
USB_HighSpeed.SchDoc VPP_GND VPP_GND — VPP_GND MCLR 5 MCLR
ICSP.SchDoc Target_IF.SchDoc
REVISION
VIRTUAL COMM PORT
VCP > VCP
Virtual CommPort.SchDoc
Revision History.SchDoc MainMicro_100_ICSP.SchDoc
Drawn By: ®
J.Griego/M.Ragsdale
o MICROCHIP
J.Mouton/A.Rodriguez
PartNumber: Project Title [ Variant: Production
DM164137 | Curiosity LPC
Sheet Title Designed with
PKOBA Main Block m
Size g [ __ Sch#03-10327 [ Date: 10/29/2020 7:16:18 PM
| Revision:4 | Sheet 10f8 Altium.com
File: 03-10327.SchDoc
2 3 4 5 6




0201
_ VBUS ; — SW_VBUS
Micro B USB connector. D- 3 D P +33V
5V@0.5A max (2.5W) D+ 7 7 U1l
ID T 7 10
GND R2 10k 3 VBIAS VOUT 11
—_—C2 0402 7 VIN VOUT ﬁ R3
9 D1 D8 10uF RA400 VIN - VOUT | 442k
0805 95.3k L 2. EN 0402 g
. 0402 5V0 _nUSBFLT 3 JFAULT PGREF 13 1%
— = 1% o 23k ——
£GND - SLEW (1)402)2 -
= 1 uvLoinewreD (- V0 USBGOOD
l ILIM
5
R6 R7 ER
5.62k 470R MIC2042
OLUF Y ga02 0402
16v 1% 1%
0201 ° 0 o
3ms slew rate adjusted
— — — — 650mA min current limit adjusted
- - - - — (22% tolerance)
- R8 4.4V power good threshold
+3.3V—AWN—— 4.1V undervoltage in shutdown threshold
USB2_HS o
D_P B E‘ 1%
DN
5V0_USBGOOD gg gSSBBGF?_?D
5V0_nUSBFLT
VBUS_DETECT VBUS DETECT
+BV
e 2,
- 3.3V LDO
PIC VDD +33V FB1
—
L s R11 U2 Yy
T 10k 1 8
4.7uF VIN VouT 220R
0402 2
16V 1% VIN 7
0603 0 3 SENSE | ‘|3|5
—— '——————=¢{ SHDN CDELAY | 1
- 5 EP = 0.1UF
PWRGD  GND 16V
+3.3V MCP1727 33V T8 /77 0201 =
R12 — 4.7uF EGND
- 16V
100k 0603
0402 =
PG SYSTEM _ Drawn By: ®
1% RCRSYSIIEN] J.Griego/M.Ragsdale
o MICROCHIP
J.Mouton/A.Rodriguez
A PartNumber: Project Title [ Variant: _Production
CDELAY ..
C = (140nal.42v) * t or DM164137 | Curiosity LPC _ _
t = (C*0.42)/140na = 3ms Sheet Title Designed with
PKoB4 USB High Speed
Size [ Sch#03-10327 [ Date: 10/29/2020 7:16:18 PM
| Revision:4 | Sheet 20f9 Altium.com
File: UsB_HighSpeed.SchDoc
2 3 5 6




<{_USB_HS

(DW RX) TIOAO 72

‘ 24

PG_SYSTEM 2551

STRONG PULLUP EN

UTIL SCL__55. |
SYS IDL_52.]

Main Micro

UBA

PAO/PWMCO_PWMHO/TIOA0/A17/BAL

TP8 @—ég PAl/PWMCO:PWMLO/TIOBO/A18
UTIL SDA 64 PA2/PWMCO_PWMH1/DATRG

PA3/TWDO/LONCOL1/PCK2
PA4/TWCKO/TCLKO/UTXD1
PA5/WMC1_PWML3/ISI_D4/URXD1
PA7/XIN32

PA8/XOUT32

ICSP

MISO
MOSI
SCK
SCK_IN deskD
CLK_EN

DATA_EN

RX0© 2| PAYURXDO/ISI_DIPWMCO_PWMFIO
X0 © v 55— PALI/UTXDO/PWMCO_PWMEXTRGO/RD
USB2 HS SYS D2 T4 PALLQCSIPWMCO PWMHOPWMCL PWMLO
- - SYS D3] PAL2/QIOLPWMCO_PWMHLPWMCT_PWMHO
pp—2L =D Zhel PAIIQIO0PWMCO_PWMH2/PWMCI_PWMLL
DN 53! PAL4IQSCK/PWMCO_PWMH3
PAL5/D14/TIOALPWMCO_PWML3
5V0_USBGOOD gxg SSSBGF?_(T)D D’éTLAK EEN QED PAL6/D15/TIOBL/PWMCO_PWML2
5V0_nUSBFLT %e| PAL7/QIO2/PCK1/PWMCO_PWMH3
(VPP _ON PA18/PWMCL PWMEXTRGL/PCK2/A14
VBUS_DETECT —YBUS DETECT VBUS DETECT g PAL/PWMCO_PWMLO/AL5
(VPP _GND PA20/PWMCO_PWMLL/AL6/BAO
((LPDI RXD1) PDI RXD1 géb PA21/RXD1/PCK1/PWMCL_PWMFIO
{VDD_GND PA22/RK/PWMCO_PWMEXTRGL/NCS2
(TAUX TAR) I %’D PA23/SCK1/PWMCO_PWMHO/ALQ
AUX DIR_ 381 PA24/RTSIPWMCO_PWMH1/A20
WS DIR 201 PA2S/CTSLPWMCO_PWMH2IA23
24| PA26/DCDL/TIOA2/MCDA?
o “o¢| PA27/DTRITIOB2IMCDAS
TP11 PA28/DSRL/TCLKL/MCCDA
5V0_USBGOOD g%» PA30/PWMCO_PWML2/PWMCL_PWMEXTRGO
PA3L/SPI0_NPCSL/PCK2/MCDAL
DP_ 9
2e ) e
PKOBA nRST _58,| 1ioor
60
= TST
33V 73.> JTAGSEL
r—s VREFP
R20 — 8.0 VREFN
AMA—_USB VBIAS 7| yoe
5.62k
— 0402 =
ATSAMETONZIB-ANT
+3.3V
U3
SPIL NPCSO P ISP_SPI SS
ICSP_FORCE SPI SS 3| SNVeS 4 CTSO SPIL SS
74LVC1G3157
=—C9
— 0.1uF
= 16V

=901

MainMicro_100_Misc.SchDoc

PDO/GTXCK/PWMCL_PWMLO/SPIL_NPCS1 [<i>—BEI-1O0 a3y
PDUGTXEN/PWMCL PWMHO/SPI1_NPCS? {<32—DS1 191 33
PD2/GTX0/PWMCI_ PWMLL/SPILNPCS3  [<dt—DS1 102
PD3/GTXUPWMCL PWMHIUTXD4 |33 —DCLIO3
PDA/GRXDV/PWMCL_PWML2/TRACEDO {<35—PKOB REVO -
PDS/GRX0PWMCI_PWMH2ITRACED] (o3l —PKOBL REVL PKoB Revision 1
PDG/GRX1/PWMCI_PWML3/TRACED? <35 —EKOBL REVZ Reserved for PKOB4
PD/GRXER/PWMC1 PWMH3/TRACED3 [t — OB REVS
PDB/GMDC/PWMCO_PWMFI1 (50 —EKOBLREVE
PDY/GMDIO/PWMCO_PWMFI2IAFET_ADTRG (8 —3000
PD10/PWMCO_PWMLO/TD 59 STATUS —
PDIL/GRX2IPWMCO_PWMHO/GTSUCOMP (w2 —STATUS =
PD12/GRX3/CANTX1/SPIO_NPCS2 o221 108 DR
PD13/GCOLISDALO (+g6—DCI1OZ DIR VCP
PD14/GRXCK/SDCKE
PDI5/GTX2/RXD2/NWR1/NBS1 <»%g gggﬁm - ga’s”}‘&) VCP_UART RX
PDIGIGTXITXD2RAS (2s—oa Al L2 —CHMS I VCP_UART TX
PDI7/GTXERISCK2ICAS (<33
PD18/NCS1/SDCSIRTS2/URXDA 39
DD20/PWMCO PWMHO G aNCS3ICTS2ZLTXDE %45 1cSP SPIo MISO_(ICSP_SDI) ICSP_SPI0_ MISO
e oM [£43_1CSP_SPI0 MOSI_(ICSP_SDO} ICSP_SPI0_MOSI
M M T A1 [F41_ICSP_SPI0_SPCK (ICSP_SCK) ICSP_SPI0_SPCK
d H 37 DGI 100 DR ISP SPIL SPCK
PD24/PWMCO_PWMLORF/TCLK11 (<3T—D81 1O —ISP SPIl SPCK §
PD25/PWMC0_PWMLI/SPI0_NPCSL/URXD2 <32 —DW BX CLK EN
PD26/PWMCO_PWML2ITD/UTXD2 |ode—DW X —SLKEN
PD27/PWMCO_PWML3/SPI0_NPCS3/TWD2 [a3e—DCL12C SDA —DATA EN X
PD28/URXD3/CANRXL/TWCK2 (921
PD30/UTXD3 |oé TVDD_GOOD |
PD31/QIO3IUTXD3PCK2 |2
2 ISP _SPIL MISO
PBl/PWMcoPEV%“”S%%?)AJ%;(S(? 1 ISP SPIL_MOSI (DI TAR)
4 7 CTSO SPIL SS__(SPI0_NPCS0)
e e
4 PDI TXDL ((U)PDI_TXDL)
PB4/TDITWDLPWMCO_PWMH2 («—EDLTXDL
PB5/TDO/TWCKLPWMCO_PWMLO f<il—EKOBL 100
PBE/SWDIOITMS <2l —DKOB4 SWDIO
PB7/SWCLK/TCK ]
PasixOUT 8 ICSP FORCE SPI SS
PBIIXIN 1< —FRASE
PB12/ERASE/PWMCO_PWMLL/GTSUCOMP 8L ERASE _
PBI3/PWMCO_PWML2/PCKO/SCKO |00 ISP SPIL SPCK  (SCK IN)
Main_Micro_Misc
— eSS > uTiL_scL XIN [OFXN
— UTIL SDA L= 7 SpA
LCIVE T AcTive ERASE [ |—ERASE
1> STATUS Drawn By:
—PKOB4 SWDIO = pKoB4 SWDIO PKOB4 SWCLK [ —EKkOB4 SWCLK Engineer:
J.Mouton/A.Rodriguez

@ MICROCHIP

PartNumber: Project Title [ Variant: Production
DM164137 | Curiosity LPC
Sheet Title

PKoB4 Main Micro

Desiined with

[ Date: 10/29/2020 7:16:18 PM

Size g [ Sch#:03-10327
| Revision:4

| Sheet 30f9

File: MainMicro_100_ICSP.SchDoc

5

Altium.com




|l

A

Main Mi Mi
aln VIICro IVIISC.
A
33V 433V 433V
VDDCORE
uUsB
s g s e
0402 | 0402 | 0402 39| VDDCORE
ams 433V 1% [1% |1% 76 | \DDGORE
+3.3V
133V FB2 FB3 ;g VDDIO GND ? —
a3y (TDO_SWO) PKOB4 TDO ] ) 281 vDDIO GND [
' (NMCLR) I PKOB4 nRST 28 | vDbDIo GND [
(VDD_VIOREF) SR . VDDIO GND [
N.M— ERASE > — +-'|- 5 GND [—=
(TDI_PGD) N.M 53| VDDIN GND
(TCK_PGC_SWDCLK) PKOBA SWCLK> =2 vDDUTMII
(TAUX) VDDPLL 4
(TMS_SWDIO) PKOB4_SWDIO VD'3-|90RE If 92 VDDUTMIC =
——Cl4 ——C19 50 VDDOUT
4 0.1UF 0.1uF . VDDPLLUSB
= 16V 16V
o o l ATSAMETON21B-ANT B
C20 ——C31 C33 —_—C35
— — 4.7uF 4.7uF 0.1uF 0.1uF
= = 0603 0603 16V 16V
16V 16V 0201 0201
+33V
U9
33V I_—S vee  vss 2
s SDA f2 UTIL_SDA
c13 Rt UTIL_SCL
10000pF 4 2o AL ;
BV 4 A0 WP b
0402 — 241C256 =
— = = VDDIO Bypass Caps VDDCORE Bypass Caps
) +3.3V VDDCORE
Dgﬁ c
[ACTIVE PRI, B0R =30 =—=C32 =—=C34 ——Ci1 —C23 =—=C24 ==C25 ——C12
GREEN ° 0.1uF 0.1uF 0.1uF 0.1uF 0.1uF 0.1uF 0.1uF 0.1uF
v | 16v | 16v | 16v v | 16v | 16v | 16V
D10 0201 | o201 | 0201 | o201 0201 | 0201 | 0201 | o201
~F  R16,,, 330R
+33V [ESTATUS 0402 YWVio e e
YELLOW = =
Ll smB vop -4 =
21 GND OUT |2 XIN -
C10
i 0.1uF
16V
0201
Drawn By: ®
J.Griego/M.Ragsdale
T MICROCHIP |-
J.Mouton/A.Rodriguez
PartNumber: Project Title [ Variant: Production
DM164137 | Curiosity LPC
Sheet Title Designed with
PKoBA Main Micro Misc. m
Size g | _ Sch#03-10327 | Date: 10/29/2020 7:16:19 PM
| Revision:4 | Sheet 40f 9 Altium.com
File: MainMicro_100_Misc.SchDoc
2 3 4 5 6




J12

3.3Vi5V =
SELECT °
JUMPER -
HDR-2.54 Male 1x3 R22
+33v 316k
0402
1%
@312

Shunt 2.54mm 1x2

< TVDD_GOOD

R23
47k
0402
1%

A
VDD bleeder

VDD_GND

R24
100R
0603
1%

Q1
TN2106

v T w

Drawn By: ®

J.Griego/M.Ragsdale ICRDCHIP
Engineer: M

J.Mouton/A.Rodriguez

PartNumber: Project Title [ Variant: Production

DM164137 | Curiosity LPC

Sheet Title Designed with
Size g [ __ Sch#03-10327 [ Date: 10/29/2020 7:16:19 PM

| Revision:4

| Sheet 50f9 Altium.com

File: Power.SchDoc




+3.3V BOARD VDD
u10
1 | veea vees 2
DATA_EN 5| iR
R68
ICSP_SPI0_MOSI (ICSP_SDO) 54%3 A iua/gR 31, ol4 AV 56D “To Application PGD |
33V Z_eND éégs
ICSP_SPIO_MISO (ICSP_SDI) R63 5\ 330R R66 19
0402 1% 7ALVCIT45GW 4.7k ’
0402
R36 gi?,: = 1%
ICSP 3.3k 16V
Mos| ~ICSP_SPI0_MOSI 0402 201 =
MISO _ICSP_SPI0_MISO 1% =
ScK _ICSP_SPI0_SPCK e +3.3V BOARD VDD
T SCK IN —ISP_SPIL_SPCK = .
CLK EN —CLK EN 1 veeavees 8
DATA EN —DATA EN 5
CLK_EN R
R69
ICSP_SPI0_SPCK (ICSP_SCK) ?4%‘; A i;s/ER 31, g4 ANV = “To Application PGC \
+33V 2 2R
. GND R67 0603
ISP_SPI1 SPCK (SCK_IN) R65  ,qp 330R I 7ALVCIT45GW 4.7k 1%
0402 1% 0402
C29 —
= 1%
0.1uF
R46
16V L
3.3k 201 =
0402 =
1%
A
Buffer voltage range is 1.2V to 5.5V
BOARD VDD
Q2
J_ _L = T3 [ ot MCLR > | ToApplication VPP/MCLR |
C26 Cc27
100F 100F ff%(ﬁ
25V 25V b RLML6402
0805 0805 0 b §R28
= = 3 100R
e 403 0603
—] #TN2106 1%
2
LABEL1
02- -R1
3 JIT
: Q4 LABEL Need Help Small
— T TN2106 Drawn By: ®
2 J.Griego/M.Ragsdale
T MICROCHIP
J.Mouton/A.Rodriguez
= PartNumber: Project Title [ Variant: Production
DM164137 | Curiosity LPC
Sheet Title Designed with
Size g | _ Sch#03-10327 [ Date: 10/29/2020 7:16:19 PM
| Revision:4 | Sheet 60f 8 Altium.com
File: IcsP.schDoc
1 2 3 4 5 6




Virtual Comm Port

+3.3V BOARD_VDD
U1l
1 |veea vees 2
5 DR
3 4 R70 TARGET TX & \
A B AN\ From Application UART (TX)
22R
33V 2 GND 0603
1%
74LVCIT45GW
@ =
vep STREAM_RXD2 16V eNp —| (From Target TX)
VCP AT R T STREAM TXD2 —=0201 BOARD_VDD | (To Target RX)
- - GND +3.3V HDR-2.54 Female 1x2
u12
1 | veea vees 2
5 DR
R71
S A B2 AN\ TARGET RX AToAppIication UART (RX) |
22R
33V 2_ GND 0603
1%
7ALVCIT45GW
C22 =
0.1uF ~
16v GND
—-0201
GND
A
Buffer voltage range is 1.2V to 5.5V
Drawn By: ®
J.Griego/M.Ragsdale
T MICROCHIP
J.Mouton/A.Rodriguez
PartNumber: Project Title [ Variant: Production
DM164137 | Curiosity LPC
Sheet Title Designed with
Virteal Comm Port  Attium)
Size g | Sch#03-10827 [ Date: 10/29/2020 7:16:19 PM
| Revision:4 | Sheet 70f9 Altium.com
File: virtualCommPort.SchDoc
1 2 3 4 5 6




BOARD_VDD——L 92— {TVvDD
J48

PGC 1 9 2 _PGEC
& J49
BOARD_VDD:
Board Supplied Target Power PGD L Dﬂ
J50
1 2 _nMCLR
MCLR o
J51
SOLDERBLOB JUMPERS
BV
N:M
VIN -
N.M
NM —_—C17 ——C16
0.22uF 0.1uF
25V
Yy =
GND
TVDD
R38
nMCLR R39 U4
TACT SPST—L_ 1 i
470R —_ > VDD VSS
GND —§N> RA5 RAO/ICSPDAT
—‘<1N> RA4 RA1/ICSPCLK
—5c> MCLR/VPP/RA3 RA2
—" RC5 RCO
TVDD — RC4 RC1
RC3 RC2
L | ovelR ~2] Res RBA
— 01 RC7 RB5
PGED —¥4 RB7 RB6
(TDO) PIC16F18446
(TcK) N1 PGEC
(AUX)
(TDI) S
(TMS) GND
SCR1 SCR2 SCR3 SCR4
Phillips Screw 1/4"  Phillips Screw 1/4"  Phillips Screw 1/4"Phillips Screw 1/4" R37
STANDOFF1 STANDOFF2 STANDOFF3 STANDOFF4 10k
S3
mTouch

TVDD

NM

z

—

@
Z
o

Button

1/4" Standoff Nylon 1/4" Standoff Nylon 1/4" Standoff Nylon 1/4" Standoff Nylon

9]
o
@

NRED

N

D6 D7
N\RED \N\RED

w)
@
Z
o

]

0402

SW_VBUS +5V
N.M
FDN340P
Q5
) r"—| N
141 N.M
VIN
uU16
MCP6561
R60 GND
10k
GND
TVDD
J9 Ji1
1
RAS | " RA5 2 PGED - ~[_PGED
RA4 - RA4_3 PGEC .o PGEC =
nMCLR - nMCLR_4 RA2 - RA2 GN
RC5 g RC5_5 RCO g RCO
RC4 o RC4_6 u4 RC1 B RC1
RC3 o RC3 7 RC2 o RC2
RC6 oo RC6_8 RB4 oo RB4
RC7 oo RC7_9 RB5 oo RB5
RB7 e RB7 10 RB6 e RB6
B 5 B8
HDR-2.54 Female 2x10 ~ 110-91-320-41-001 HDR-2.54 Female 2x10
g g 9 8
o o o x
o
2 2 RCO
' 1 R33
g E §g 5 N'MI 8502 R32
° AWV
M 470R
TVDD
S
%mz R43 R29
1k 1k N.M S1
TACT sPST—L_
R34 =

GND

+3.3V
135
RC2 L[ AN PWM RC5
RA4 2 RA2
RST INT
CS 3 RX
cs RX
SCK 4] 2k = X
N.M__MISO 5| wiso  soL SCL___‘nM
MOSI g MOSI  SDA SDA
8 +3.3V +5V
I S B s SR
= mikroBUS HOST =
GND
RB4 _ ORsxp R55 MISO RX OR__RB5
RB6 ORmRSS SCK SCL WOR RB6
RC7 OR,\N\IR57 MOSI SDA AAAOR_RB4
RC6__ OR\\AR51 CS TX OR_RB7
MWV MV
RB4 MISO RX RB5
RB6 SCK SCL RB6
_RC7T__ NM MOSI SDA N.M RB4
RC6 CS X RB7
+3.3V
GND —|_
AlO2 [
AIOTL RSVD2
AIO0 a RSVD1
N.M_RX Sl= RSVDO NM
TX 31918 PIO7
__WAKE SW_ D|2S|o RTS/PIOG
CMD/MLDP  g|m|®|2(8 SPI/PIO
—— =195
a ala|s a
alafa(o2ls
wslz|z[0)2
L T T L
GND GND
+3.3V
RX
X
CTS/PIO5
5713: RTS/PIO6
: RCO
WAKE_SW
AlO2
AlOL N.M CMD/MLDP
AlOO
PIO7 LED/PIO1/SCK
- MLDP_EV/PIO2/CS
RSVDO WS/PIO3/MOSI
RSVD1 PIO4/MISO
RSVD2 SPI/PIO
Drawn By: ®
J.Griego/M.Ragsdale
e MICROCHIP
J.Mouton/A.Rodriguez
PartNumber: Project Title [ Variant: Production
DM164137 | Curiosity LPC

Sheet Title

mikroBUS and Target PIC Interface

Size

[ Sch#:03-10327

[ Date: 10/29/2020 7:16:19 PM

| Revision:4

| Sheet 8 0f 9

File: Target IF.SchDoc

w

5

Desiined with




Rev. 2: 2015-03-31

AMove Silkscreen of R14 so it can be read. Swap RB4 and RC7
connections. Change @U4 to PIC16F1619-1/P.

Change @U4 to PIC16F18346-1/P.

Rev. 2.2: 2018-08-02

Rev. 3: 2019-10-29

AUpdated to use PkoB 4 debugger design.
All components updated to MCL standards.

Rev. 4: 2019-12-11

AAdded missing silkscreen text.

Revision History

Drawn By: ®

J.Griego/M.Ragsdale ICRDCHIP
Engineer: M

J.Mouton/A.Rodriguez

PartNumber: Project Title [ Variant: Production

DM164137 Curiosity LPC

Sheet Title Designed with
Revision History m
Size g [ __ Sch#03-10327 [ Date: 10/29/2020 7:16:19 PM

| Revision:4 | Sheet 90f 9 Altium.com

File: Revision History.SchDoc

5




Board Outline

100.00mil
I

2.650 (in)—75

|
100.00mil

Ol

O 360 %lrg X 0.060 (In
Unplated Slot In Panel =
See Notes V4
O / - é
. | nl sbsM |
0.000 (in)—" MARK REV LEVEL—" ”
. THIS DRAWING .
0.000 (in) BOTTOM SILK 5.000 (in)

MARK MFGR ID
v

BOTTOM SILK

MARK "Made In (cour
BOTTOM SILK SEE N



PCB EDGE

-

R28

xS

=C9
C28= C22= C21=

R66 =3

R70
=]

R71

[ R36
[ Rres

[ RrRa6

R30 CIR26 3 [C1R69
R67

gty oy

R25 R27

=
R15

=
R16

C30
€230 0,.=.C24

VCOoM

OO 00

@
2

oc32

R29

D DRSl

R38[]

|
C15

1d

W

Ji
J33 J35
I B
ua
339 340
33 [IR32
39

334
— L
38 |
U6 1
Jia
J10
cis[]




TANDOFF4

STANDOFF:

LABEL1

R52 RSS5

fe=] =

R56 R53

= =

e &

= 5
R33
(=)

Ra44 R34
= =

S TANDOFF3

STANDOFF;




@@ P1M
GND TVDD
7 EHee0ee

Z§>°3°
> Py T

+9-16V

e 4B
-0 &0

LLLLLL B

TN

mgmam
2 ses

L
=
>
1]
=}
=
1]
O
4
<
=

IE3AB
Device
Power

PGD.PGED : . n

PGC‘ PGEC S$1 RC4 83 RC1 F
[ ]
® MCLR€ nMCLR @
] ™ S3
BD_VDD§ TVDD ®eny  MICROCHIP

— se Curiosity LPC
e _Ii =e www.microchip.com/curiosity
@ACTIVE  STATUS 4) Assy No.: 02-10327

RC6

RC7

RB7
RCO

[ =
w

&
(@|por
RA2

RC5

OEOOOOOOO

[
T
w

ae/l®@@®
s|0[0)

IE_&
D7
IEdd8




He@Pe®e®e (o) (@)
PR

00000000

0000000

oon

0000000000

r 7
LABEL1

s |
0000000000

(o MoNoNoNoNoNo]

X XXX XXX
XX XXX X[
@ OO OOOOV

0000000008

00000000

04-10327 Rev







:). 00000 190




000000 )0







Com pone nt I |St Bill of Materials Fitted for Variant [Production] of Project [Low Pin Count Curiosity.PrjPcb] (No PCB Document Selected)

Source Data From: Low Pin Count Curiosity.PrjPcbh
Project: Low Pin Count Curiosity.PrjPcb
Variant: Production
Report Date: 10/29/2020 7:16 PM M I C R D C H I p
Print Date: 10/29/2020 7:14:50 PM
Fitted Designator Quantity Value Manufacturer 1 Manufacturer Part Number 1 Description
Fitted @J12 1 Shunt 2.54mm 1x2 Waurth Electronics Inc. 60900213421
Fitted @u4 1 PIC16F18446 Microchip Technology PIC16F18446-IP
Fitted C1, C4, Cs, C9, C10, C11, C12, 21 0.1uF Murata Electronics North America GRMO33R61C104KE84D Capacitor
C14, C19, C21, C22, C23, C24,
C25, C28, C29, C30, C32, C33,
C34, C35
Fitted C2,C26, C27 3 10uF TDK Corporation C2012X5R1E106K125AB Capacitor
Fitted Cc3 1 0.022uF Samsung Electro-Mechanics America, Inc CLO5B223KO5NNNC Capacitor
Fitted Cs5, C8, C18, C20, C31 5 4.7uF TDK Corporation, KEMET C1608X5R1C475K080AC, CO603C475K8PACTU Capacitor
Fitted c7 1 1000pF Murata GRM155R71H102KA01D Capacitor
Fitted C13 1 10000pF KEMET C0402C103K4RACTU Capacitor
Fitted C15, C16 2 0.1uF KEMET C0603C104M3RACTU Capacitor
Fitted C17 1 0.22uF Murata GCM21BR71H224KA37L Capacitor
Fitted D1,D8 2 PGB101 Littlefuse PGB1010402KR
Fitted D2, D9 2 GREEN Lite-On, Lite-On Inc LTST-C190GKT, LTST-C191KGKT LED
Fitted D3 1 US1M Vishay US1IM-E3/61T
Fitted D4, D5, D6, D7 4 RED Lite-On LTST-C190KRKT LED
Fitted D10 1 YELLOW Lite-On LTST-C190YKT LED
Fitted FB1 1 220R Murata Electronics North America BLM21PG221SN1D FERRITE 180R 1.5A SMD 0603
Fitted FB2, FB3 2 600R TDK Corporation MPZ2012S601AT000 FERRITE 180R 1.5A SMD 0603
Fitted Ji 1 USB2.0 MICRO-B FEMALE FCI 10118194-0001LF
Fitted J9,J11 2 HDR-2.54 Female 2x10 SHENZHEN JUNHAO ENGINEERING 214-2010-0021-000
Fitted Ji2 1 HDR-2.54 Male 1x3 JAMECO VALUEPRO 7000-1X3SG-R
Fitted J35 1 mikroBUS HOST Sullins Connector Solutions PPTCO81LFBN-RC
Fitted LABEL1 1 LABEL Need Help Small
Fitted POTL 1 10k Bourns 3352T-1-103 Resistor Var
Fitted Q1,Q3,Q4 3 TN2106 Microchip Technology TN2106K1-G Transistor MOS
Fitted Q2 1 IRLML6402 International Rectifier IRLML6402TRPBF Transistor MOS
Fitted Q5 1 FDN340P Fairchild Semiconductor FDN340P Transistor MOS
Fitted R1, R40, R41, R42, R43 5] 1k Panasonic ERJ-3EKF1001V Resistor
Fitted R2, R8, R11, R21 4 10k Panasonic ERJ-2RKF1002X Resistor
Fitted R3 1 442k Samsung Electro-Mechanics America, Inc RC1005F4423CS Resistor
Fitted R4 1 3.16k Panasonic ERJ-3EKF3161V Resistor
Fitted R5 1 24.3k Samsung RC1005F2432CS Resistor
Fitted R6, R20 2 5.62k Vishay Dale CRCWO04025K62FKED Resistor
Fitted R7 1 470R Yageo RC0402FR-07470RL Resistor
Fitted R9, R22 2 31.6k Panasonic ERJ-2RKF3162X Resistor
Fitted R10, R23 2 47k Panasonic - ECG ERJ-2RKF4702X Resistor
Fitted R12,R17, R18, R19 4 100k Panasonic ERJ-2RKF1003X Resistor
Fitted R13, R14, R25, R26, R27, R30, 8 4.7k Yageo RC0402FR-074K7L Resistor
R66, R67
Fitted R15, R16, R62, R63, R64, R65 6 330R Yageo RC0402FR-07330RL Resistor
Fitted R24, R28 2 100R ROHM MCRO3EZPFX1000 Resistor
Fitted R29, R37, R38, R60, R61 5 10k Panasonic ERJ-3EKF1002V Resistor
Fitted R31, R32, R35, R39 4 470R Panasonic ERJ-3EKF4700V Resistor
Fitted R33, R34, R44, R47, R48, R49, 15 OR Panasonic ERJ-2GEOROOX Resistor
R50, R51, R52, R53, R54, R55,
R56, R57, R58
Fitted R36, R46 2 3.3k Panasonic - ECG ERJ-2RKF3301X Resistor
Fitted R59 1 2k Panasonic ERJ-3EKF2001V Resistor
Fitted R68, R69, R70, R71 4 22R Yageo RCO603FR-0722RL Resistor
Fitted R400 1 95.3k Rohm Semiconductor MCRO1MRTF9532 Resistor
Fitted S1,S2 2 TACT SPST C&K Components KSR231GLFS Switch
Fitted SCR1, SCR2, SCR3, SCR4 4 Phillips Screw 1/4" Keystone Electronics 9900
Fitted STANDOFF1, STANDOFF2, 4 1/4" Standoff Nylon Keystone Electronics 1902A
STANDOFF3, STANDOFF4
Fitted ul 1 MIC2042 Microchip Technology MIC2042-1YTS IC SMT, MIC2042, DISTRIBUTION SW SGL 14-TSSOP
Fitted u2 1 MCP1727 3.3V Microchip Technology MCP1727-3302E/IMF LDO
Fitted u3 1 74LVC1G3157 Texas Instruments SN74LVC1G3157DCKR
Fitted u4 1 110-91-320-41-001 Mill-Max 110-99-320-41-001 Connector
Fitted U7, U10, U11, U12 4 74LVC1T45GW NXPUSA Inc. 74LVC1T45GW,125
Fitted us 1 ATSAME70ON21B-ANT Microchip Technology ATSAME70ON21B-ANT
Fitted u9 1 24L.C256 Microchip Technology 24L.C256T-E/ST EEPROM 12C
Fitted u16 1 MCP6561 Microchip MCP6561T-E/OT OPAMP
Fitted VCOM 1 HDR-2.54 Female 1x2 Samtec Inc SSW-102-01-T-S
Fitted Y1 1 12.00 MHz Microchip Technology Inc DSC6011J11A-012.0000
Not J2 0 HDR-1.27 Male 1x2 Digikey 952-3598-ND
Fitted
Not J3,J4, J6 0 HDR-2.54 Male 1x2 Molex Inc 22284020
Fitted
Not J7 0 HDR-2.54 Female 1x6 FCI 75915-306LF
Fitted
Not J8, J10, J14 0 HDR-2.54 Male 1x8 FCI 68001-108HLF CON HDR-2.54 Female 1x8 Gold TH
Fitted
Not J13, J39, J40 0 HDR-2.54 Male 2x4 Samtec TSW-104-08-L-D
Fitted
Not Ji5 0 POWER 2.5mm CUlInc PJ-002BH-SMT-TR
Fitted
Not J33, J34 0 HDR-2.54 Female 1x8 Sullins PPTCO81LFBN-RC CON HDR-2.54 Female 1x8 Gold TH
Fitted
Not Ja4 0 HDR-1.27 Female 1x8 Greenconn FSEA120-0802A002B1AB CON HDR-2.54 Female 1x8 Gold TH
Fitted
Not P1 0 HDR-2.54 Male 1X8 CON HDR-2.54 Female 1x8 Gold TH
Fitted STAGGERED
Not POT1_ALT 0 10k Bourns Inc. 3386P-1-103TLF Resistor Var
Fitted
Not R45 0 OR Panasonic ERJ-3GSYOR0O0V Resistor
Fitted
Not. TP1, TP3 0 TP LOOP Red Keystone 5010 Test Point
Fitted
Not TP2, TP4 0 Duplicate, Use MISC0025 Keystone 5011 Test Point
Fitted
Not us 0 LM340MP-5.0 National Semiconductor LM340MP-5.0 LDO
Fitted
Not ue 0 RN4020 Microchip Technology RN4020-V/RMBEC133
Fitted
156
Approved Notes




